

Trailer Catalog Q1 - 2024



Trailer Models

Туре	Model	Description	GVWR Options	Page
	DST	Dump Standard Duty: 60" Bed Width	5K, 7K, 10K	4
DMD		Dump Medium Duty: 77" Bed Width	10K, 14K	5
DUMP	DHV	Dump Heavy Duty: 83" Bed Width	14K, 16K	6
DHO		Dump Heavy Deck-Over: 92" Bed Width	14K, 16K, 20k, 21K, 24K, 30K	7
	ТМХ	Tilt Mini: 72" between fenders	7K	11
TILT	TSX	Tilt Skid-steer: 85" between fenders	14K, 16K, 20K, 21K	12
	тно	Tilt Heavy Deck-Over: 96.5" Width	20K, 24K, 30K	14
	FBS	Flatbed Skid-steer: 85" between fender	10K, 14K	18
FLATBED	FBH	Flatbed Heavy Duty: 101" Width	14K, 16K	20
	FBX	Flatbed Extreme Duty: 101" Width	20K, 21K, 24K, 30K	22

Walton Trailers are now backed by a 3 Year Limited Structural Warranty

WALTON TRAILER CODES





Dump Trailers



DST

DUMP STANDARD DUTY

GVWR: 5,000 - 10,000 lbs

Available Sizes: 8' x 60", 10' x 60", 12' x 60"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
DST105-8B	5,000	1 - 5,200 lb	Slipper Spring	Bumper	\$7,556
DST235-10B	7,000	2 - 3,500 lb	Slipper Spring	Bumper	\$9,041
DST205-12B	10,0000	2 - 5,200 lb	Slipper Spring	Bumper	\$10,637

Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

BATTERY/CHARGER: Battery with 110V 5amp Charger

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FENDERS: 1/8" Diamond Plate

FRAME: 5" Channel (6" for 10,000 lb GVWR)

GATE: Barn Door

HOIST: Scissor Hoist

JACK: 8,000 lb Drop-Leg

LIGHTS: DOT Approved LED

SIDES: 24", (12 ga Sides with 10 ga Floor)

STAKE POCKETS: 2" Stake Pockets and Tarp Rod

STORAGE: Standard Toolbox

TARP: Heavy Duty Mesh Tarp

TIRES: ST205/75R15 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

10 ga. Sides

32" Sides

Board Bracket Side Extensions

12" Fold Down Wall (32"+)

Drivers Side Step

Chain Tray

Wireless Remote

Solar Charging System

Extra D-Rings

Matching Spare

DMD

DUMP MEDIUM DUTY

GVWR: 10,000 - 14,000 lbs

Available Sizes: 12' x 77", 14' x 77"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
DMD205-12B	10,000	2 - 5,200 lb	Slipper Spring	Bumper	\$11,711
DMD205-14B	10,000	2 - 5,200 lb	Slipper Spring	Bumper	\$12,064
DMD207-12B	14,000	2 - 7,000 lb	Slipper Spring	Bumper	\$12,832
DMD207-14B	14,000	2 - 7,000 lb	Slipper Spring	Bumper	\$13,184

Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

BATTERY/CHARGER: Battery with 110V 5amp Charger

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FENDERS: 3/16" Diamond Plate Heavy Duty

FRAME: 6" Channel

GATE: Spreader Gate Combo

HOIST: Scissor Hoist

JACK: 8,000 lb Drop-Leg (12k for 14K GVWR)

LIGHTS: DOT Approved LED

SIDES: 24", (12 ga Sides with 10 ga Floor)

STAKE POCKETS: 2" Stake Pockets and Tarp Rod

STORAGE: Standard Toolbox

TARP: Heavy Duty Mesh Tarp

TIE DOWNS: 4 - 5/8" D-Rings

TIRES: ST225/75R15 Radial, ST230/80R16 Radial (14k)

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

32" / 40" Sides

Board Bracket Side Extensions

12" Fold Down Wall

16" Fold Down Wall

12K Hydraulic Jack

Drivers Side Step

Chain Tray

Wireless Remote

Solar Charging System

Extra D-Rings

Matching Spare

DHV

DUMP HEAVY DUTY

GVWR: 14,000 - 16,000 lbs

Available Sizes: 14' x 83", 16' x 83"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
DHV207-14	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$13,680
DHV207-16	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$14,031
DHV208-14	16,000	2 - 8,000 lb	Slipper Spring	Bumper, Goose	\$16,479
DHV208-16	16,000	2 - 8,000 lb	Slipper Spring	Bumper, Goose	\$16,832

Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

BATTERY/CHARGER: Battery with 110V 5amp Charger

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FENDERS: 3/16" Diamond Plate Heavy Duty

FRAME: 6" Channel

GATE: Spreader Gate Combo

HOIST: Scissor Hoist

JACK: 12,000 lb Drop-Leg

LIGHTS: DOT Approved LED

RAMPS: Heavy Duty 72" Slide-in Ramps

SIDES: 24", (12 ga Sides with 10 ga Floor)

STAKE POCKETS: 2" Stake Pockets and Tarp Rod

STORAGE: Standard Toolbox

TARP: Heavy Duty Mesh Tarp

TIRES: ST235/80R16 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options







Gray Tan

Popular Add-ons

10 ga. Sides

7 ga. Floor

32" / 40" Sides

Board Bracket Side Extensions

16" Fold Down Wall

12K Hydraulic Jack (Single/Dual)

Drivers Side Step

Wireless Remote

Solar Charging System

G-Rated Tire Upgrade (14K upgrade)

Matching Spare

DHO

DUMP HEAVY DECKOVER

GVWR: 14,000 - 30,000 lbs

Available Sizes: 14' x 92", 16' x 92", 20' x 92"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
DHO207-14	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$14,200
DHO207-16	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$14,551
DHO208-14	16,000	2 - 8,000 lb	Slipper Spring	Bumper, Goose	\$16,479
DHO208-16	16,000	2 - 8,000 lb	Slipper Spring	Bumper, Goose	\$16,832
DHO210-16G	20,000	2 - 10,000 lb	Slipper Spring	Goose	\$23,697
DHO212-16G	24,000	2 - 12,000 lb	Slipper Spring	Goose	\$24,987
DHO212-20G	24,000	2 - 12,000 lb	Slipper Spring	Goose	\$25,691
DHO215-20G	30,000	2 - 15,000 lb	Slipper Spring	Goose	\$28,661

^{*}Empty weights are approximations. It is the customers responsibility to verify exact weight.

DHO

DUMP HEAVY DECKOVER

GVWR: 14,000 - 30,000 lbs

Available Sizes: 14' x 92", 16' x 92", 20' x 92"





Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

BATTERY/CHARGER: Battery with 110V 5amp Charger

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FRAME: 6" Channel (14k), 8" Channel (16k),

10" x 19 lb I-Beam (20k/24k), 10" x 22 lb I-Beam (30k)

GATE: Spreader Gate Combo

HOIST: Scissor Hoist

JACK: 12,000 lb Drop-Leg (2 -12k for 20K+ GVWR)

LIGHTS: DOT Approved LED

RAMPS: Heavy Duty 96" Slide-in Ramps

SIDES: 24", (12 ga Sides with 10 ga Floor)

STAKE POCKETS: 2" Stake Pockets and Tarp Rod

STORAGE: Standard Toolbox

TARP: Heavy Duty Mesh Tarp

TIE DOWNS: 4 - 5/8" D-Rings

TIRES: ST235/80R16 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

10 ga. Sides

7 ga. Floor

32"/40" Sides (40" standard on 20k+)

Board Bracket Side Extensions

16" Fold Down Wall

12K Hydraulic Jack (Single/Dual)

Drivers Side Step

Chain Tray

Wireless Remote

Solar Charging System

G-Rated Tire Upgrade (14K upgrade)

Dump Trailer Options - Index



Add-On	Available on
Surge Brakes (Bumper Pull Only)	DST, DMD, DHV
Gooseneck	DHV, DHO
10 ga. Sides	All Models
7 ga. Floor	DMD, DHV, DHO
32" Sides	All Models
40" Sides - standard on 20k GVWR and above	DMD, DHV, DHO
Fold Down Wall (Whole) - 24" Only	DHO
Fold Down Wall (Split) - 32"+	All Models
Board Bracket Side Extension	All Models
Grain Gate	DMD, DHV, DHO
HD 72" Slide-In Ramps	DMD
Rear Stabilizer Drop Legs	DHV, DHO
12K Jack Upgrade	DST, DMD
12K Hydraulic Jack (Single / Dual)	DMD, DHV, DHO
Paint + Primer	All Models
3" Channel on 12" Centers	DHV, DHO
Surge Coupler (Bumper Pull Only)	DST, DMD, DHV
Gooseneck Air Ride Coupler (Gooseneck Only)	DHV, DHO
Drivers Side Step	All Models
Extra Storage Box in Uprights (Gooseneck Only)	DHV, DHO
Chain Tray	All Models
Wireless Remote	All Models
Solar Charging System	All Models
Extra D-Rings	All Models
G-Rated Upgrade (14k package and below)	DMD, DHV, DHO
Matching Spare	All Models
Custom Paint Color	All Models

Tilt Trailers







Mini Tilt

GVWR: 7,000 lbs

Available Sizes: 12' x 85"

Model	GVWR	Axles	Suspension	Pull Option	MSRP
TMX107-12B	7,000	1 - 7,000 lb	Torsion	Bumper	\$7,295

Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 2.5" Angle on 16" Centers

FENDERS: 1/8" Diamond Plate

FRAME: 4" x 6" x 5/16" Angle

TILT: Hydraulic

TILT ANGLE: 10 degrees

DECK: Full Tilt

FLOOR: 3/16" Smooth Plate w / Expanded Metal

JACK: 8,000 lb Drop-Leg

LIGHTS: DOT Approved LED

SPARE MOUNT: Included

STORAGE: Standard Toolbox

TAIL: Knife Edge

TIE DOWNS: 7 - 5/8" D-Rings

TIRES: ST235/80R16 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

Extra D-Rings Matching Spare



Skid-steer Tilt

GVWR: 14,000 - 21,000 lbs

Available Sizes: 16' x 85", 20' x 85", 22' x 85", 24' x 85", 26' x 85"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
TSX207-16	14,000	2 - 7,000 lb	Torsion	Bumper	\$10,369
TSX207-20	14,000	2 - 7,000 lb	Torsion	Bumper	\$11,074
TSX207-22	14,000	2 - 7,000 lb	Torsion	Bumper	\$11,425
TSX207-24	14,000	2 - 7,000 lb	Torsion	Bumper	\$11,777
TSX208-20	16,000	2 - 8,000 lb	Torsion	Bumper, Goose	\$13,692
TSX208-22	16,000	2 - 8,000 lb	Torsion	Bumper, Goose	\$14,044
TSX208-24	16,000	2 - 8,000 lb	Torsion	Bumper, Goose	\$14,395
TSX307-20	21,000	3 - 7,000 lb	Torsion	Bumper, Goose	\$14,656
TSX307-22	21,000	3 - 7,000 lb	Torsion	Bumper, Goose	\$15,008
TSX307-24	21,000	3 - 7,000 lb	Torsion	Bumper, Goose	\$15,359
TSX307-26	21,000	3 - 7,000 lb	Torsion	Bumper, Goose	\$15,711



Skid-steer Tilt

GVWR: 14,000 - 21,000 lbs

Available Sizes: 16' x 85", 20' x 85", 22' x 85", 24' x 85", 26' x 85"





Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FENDERS: 3/16" Diamond Plate Heavy Duty

FRAME: 2" x 5" x 1/4" Tube

TILT: Hydraulic w/ Metering Valve

TILT ANGLE: 10 degrees

DECK: 4' Stationary Deck at the Front

FLOOR: 2" x 10" Treated Lumber

JACK: 12,000 lb Drop-Leg

LIGHTS: DOT Approved LED

SPARE MOUNT: Included

STAKE POCKETS: 2x5/16" Rubrail w/ 2" Stake Pockets

STORAGE: Standard Toolbox

SUSPENSION: Torsion

TAIL: Knife Edge

TIE DOWNS: 10 - %" D-Rings

TIRES: ST235/80R16 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

Rock Crawler Package
Hydraulic Power Tilt (incl. Power Unit)
Graytex Runners
12K Hydraulic Jack
3" Channel on 12" Centers
Chain Tray
Chain Spool b/w Stake Pockets
Extra D-Rings
Matching Spare



Tilt Heavy Deckover

GVWR: 20,000 - 30,000 lbs

Available Sizes: 24' x 96.5", 26' x 96.5", 28' x 96.5", 30' x 96.5"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
THO210-24	20,000	2 - 10,000 lb	Slipper Spring	Bumper, Goose	\$22,850
THO210-26	20,000	2 - 10,000 lb	Slipper Spring	Bumper, Goose	\$23,202
THO210-28	20,000	2 - 10,000 lb	Slipper Spring	Bumper, Goose	\$23,553
THO212-24	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$26,680
THO212-26	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$27,032
THO212-28	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$27,383
THO215-30	30,000	2 - 15,000 lb	Slipper Spring	Bumper, Goose	\$31,658



Tilt Heavy Deckover

GVWR: 20,000 - 30,000 lbs

Available Sizes: 24' x 96.5", 26' x 96.5", 28' x 96.5", 30' x 96.5"



Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

COUPLER: 2-5/16" - 21,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FRAME: 10" x 19 lb I-Beam

TILT: Hydraulic

TILT ANGLE: 11 degrees

DECK: 3' Stationary Deck at the Front

FLOOR: 2" x 10" Treated Lumber

JACK: 2-12,000 lb Drop-Legs

LIGHTS: DOT Approved LED

SPARE MOUNT: Included

STAKE POCKETS: 2x5/16" Rubrail w/ 2" Stake Pockets

STORAGE: Standard Toolbox

SUSPENSION: Slipper Spring

TAIL: Knife Edge w/ Flip Over Ramps

TIE DOWNS: 12 - 1" D-Rings

TIRES: ST235/80R16 Radial (Dually)

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural



Black Gunmetal Deser Gray Tan



Popular Add-ons

Hydraulic Power Tilt (incl. Power Unit)

12K Hydraulic Jack (Dual)

3" Channel on 12" Centers

Chain Tray

Chain Spool b/w Stake Pockets

Extra D-Rings

Matching Spare





Add-On	Available on
Rock Crawler Package	TSX
Gooseneck	TSX, THO
Hydraulic Power Tilt	TSX, THO
Metering Valve (incl. on TSX models)	THO
Graytex Runners	TSX
Tred Cleat (tail to wheel well)	TSX, THO
2 Speed Bulldog Jack	THO
12K Hydraulic Jack (Single / Dual)	TSX, THO
Paint + Primer	All Models
3" Channel on 12" Centers	TSX, THO
Pintle Ring	TSX, THO
Gooseneck Air Ride Coupler	TSX, THO
Underslung Storage Box	THO
Chain Tray	TSX, THO
Chain Spool Between Stake	
Pockets	TSX, THO
Extra D-Rings	All Models
G-Rated Upgrade (14k and 21k packages)	TSX, THO
Matching Spare (price based on tire size)	All Models
Custom Paint Color	All Models

Flatbed Trailers





Flatbed Skid-steer

GVWR: 10,000 - 14,000 lbs

Available Sizes: 16' x 85", 20' x 85"





Model	GVWR	Axles	Suspension	Pull Option	MSRP
FBS205-16B	10,000	2 - 5,200 lb	Slipper Spring	Bumper	\$8,794
FBS207-20B	14,000	2 - 7,000 lb	Slipper Spring	Bumper	\$9,771

Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FRAME: 5" Channel (6" for 10,000 lb GVWR)

FLOOR: 2" x 10" Treated Lumber

LOADING STYLE: 2 - 5' Spring Assisted Ramps

LIGHTS: DOT Approved LED

JACK: 8,000 lb Drop-Leg

STORAGE: Standard Toolbox

TIE DOWNS: 8 - 5/8" D-Rings

TIRES: ST235/80R16 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

12K Hydraulic Jack Chain Tray Extra D-Rings Matching Spare



FLATBED



Flatbed Heavy Duty

GVWR: 14,000 - 16,000 lbs

Available Sizes: 20' x 101", 22' x 101", 24' x 101", 26' x 101"

Model	GVWR	Axles	Suspension	Pull Option	MSRP
FBH207-20	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$9,432
FBH207-22	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$10,018
FBH207-24	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$10,604
FBH207-26	14,000	2 - 7,000 lb	Slipper Spring	Bumper, Goose	\$11,190.15
FBH208-22	16,000	2 - 8,000 lb	Slipper Spring	Bumper, Goose	\$13,092.30
FBH208-24	16,000	2 - 8,000 lb	Slipper Spring	Bumper, Goose	\$13,679.55



Flatbed Heavy Duty

GVWR: 14,000 - 16,000 lbs

Available Sizes: 20' x 101", 22' x 101", 24' x 101", 26' x 101"





Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

COUPLER: 2-5/16" - 15,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FRAME: 10" x 15 lb I-Beam (19 lb for 16k GVWR)

FLOOR: 2" x 10" Treated Lumber

LOADING STYLE: Mega Ramps

LIGHTS: DOT Approved LED

JACK: 12,000 lb Drop-Leg

SIDE RAIL: 5" Channel

STAKE POCKETS: 2x5/16" Rubrail w/ 2" Stake Pockets

STORAGE: Standard Toolbox

TIRES: ST235/80R16 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

Straight Deck w/ Slide-out Ramps

12K Hydraulic Jack (Single / Dual)

4" Channel on 16" Centers

Torque Tube

Pintle Ring

Chain Tray

Extra D-Rings (Per D-Ring)

G-Rated Tire Upgrade (14k only)

Matching Spare

Chain Spool b/w Stake Pockets



Flatbed Max

GVWR: 20,000 - 30,000 lbs





*Available in 2-5/16" coupler, pintle ring, and gooseneck

Available Sizes: 24' x 101", 26' x 101", 28' x 101", 30' x 101", 32' x 101", 40' x 101"

Model	GVWR	Axles	Suspension	Pull Option	MSRP
FBX210-24	20,000	2 - 10,000 lb	Slipper Spring	Bumper, Goose	\$15,059
FBX210-26	20,000	2 - 10,000 lb	Slipper Spring	Bumper, Goose	\$15,647
FBX210-28	20,000	2 - 10,000 lb	Slipper Spring	Bumper, Goose	\$16,232
FBX307-24	21,000	3 - 7,000 lb	Torsion	Bumper, Goose	\$15,633
FBX307-26	21,000	3 - 7,000 lb	Torsion	Bumper, Goose	\$16,219
FBX212-24	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$17,014
FBX212-26	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$17,599
FBX212-28	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$18,186
FBX212-30	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$18,773
FBX212-32	24,000	2 - 12,000 lb	Slipper Spring	Bumper, Goose	\$19,359
FBX215-28	30,000	2 - 15,000 lb	Slipper Spring	Bumper, Goose	\$22,889
FBX215-30	30,000	2 - 15,000 lb	Slipper Spring	Bumper, Goose	\$24,127
FBX215-32	30,000	2 - 15,000 lb	Slipper Spring	Bumper, Goose	\$24,713
FBX215-40	30,000	2 - 15,000 lb	Slipper Spring	Bumper, Goose	\$27,058



Flatbed Max

GVWR: 20,000 - 30,000 lbs

Available Sizes: 24' x 101", 26' x 101", 28' x 101", 30' x 101", 32' x 101", 40' x 101"





Standard Features

BRAKES: Self-Adjust Electric Drum Brakes

COUPLER: 2-5/16" - 21,000 lb Demco EZ-Latch

CROSS-MEMBERS: 3" Channel on 16" Centers

FRAME: 10" x 19 lb I-Beam (22 lb for 30k GVWR)

FLOOR: 2" x 10" Treated Lumber

LOADING STYLE: Mega Ramps

LIGHTS: DOT Approved LED

JACK: 2-12,000 lb Drop-Legs

SIDE RAIL: 5" Channel

STAKE POCKETS: 2x5/16" Rubrail w/ 2" Stake Pockets

STORAGE: Standard Toolbox

TIRES: 215/75R17.5 Radial

WHEEL COLOR: Black

WARRANTY: 3 Year Limited Structural

Powder Coat Options



Popular Add-ons

Straight Deck w/ Slide-out Ramps 12K Hydraulic Jack (Single / Dual) 4" Channel on 16" Centers

Torque Tube

Pintle Ring

Chain Tray

Extra D-Rings (Per D-Ring)

G-Rated Tire Upgrade (14k only)

Matching Spare

Chain Spool b/w Stake Pockets

^{*}Trailers listed with a pull type designated only come in that option

Flatbed Trailer Options - Index 🖲



Add-On	Available on
Gooseneck	FBH, FBX
Taller Gooseneck (6")	FBH, FBX
Straight Deck w/ 96" Slide Out Ramps	FBH, FBX
2 - 5' Spring Assisted Ramps w/ Pop-up Middle Section	FBH, FBX
2 - 25K Two Speed Bulldog Jacks	FBH, FBX
12K Hydraulic Jack (Single / Dual)	FBH, FBX
Paint + Primer	All Models
3" Channel on 12" Centers	All Models
4" Channel on 16" Centers	FBH, FBX
4" Channel on 12" Centers	FBH, FBX
6" Side Rail (Incl. in upgrade to 4" channel cross members)	FBH, FBX
Pintle Ring	FBH, FBX
Receiver Tube Hitch	FBH, FBX
Torque Tube (standard on 30'+ lengths)	FBH, FBX
Gooseneck Air Ride Coupler (Gooseneck Only)	FBH, FBX
Deck on Neck	FBH, FBX
Underslung Storage Box	FBH, FBX
Chain Tray	All Models
Extra Storage Box in Uprights (Gooseneck Only)	FBH, FBX
Ratchet Straps (Weld-on)	FBH, FBX
Ratchet Slide Track (per side)	FBH, FBX
Chain Spool Between Stake	
Pockets	FBH, FBX
Extra D-Rings	All Models
G-Rated Upgrade (14k and 21k packages)	All Models
Matching Spare (price based on tire size)	All Models
Extra Length Per Foot (for lengths not shown)	FBH, FBX
Custom Paint Color	All Models